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GREEN BUILDING AND ENERGY CONSERVATION AND

AUDIT

Fraffa o : 3 9 [JTferRaT 3 : 60

Time allowed : 3 Hours] [Maximum Marks : 60

e, (i) FHEA AT g HE

Note : There are three sections A, B and C in the paper.

(i) A T 397 GEI1 1 3 G4t 10 YT & IR T | T 977 T 3% F1 8 TG
G} 10 9T TG THR S To7 % & |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QI & % 8 F¥A 4 & fo5ee] 6 I & IR Y | FeAb F9T 3 37 B E 0
$7HT 5 TET/50 FG1 7 IR GG |
Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) G % 6 F 7 G fet 4 3071 F I GG | T F9T 8 3k H 8
F7HT 15 I157/150 F1se] § IR 17 |
Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) T Qe & GHi FI1 1 TR T 19§ Hord |
Solve all the questions of a section consecutively together.
i) @ reIsT # S 87 #1 T 7 3 Sgare S A= 2 |
Only English version is valid in case of difference in both the languages.
/A - T
SECTION - A
1. () o e d wie w6 R
(a) & Sl @ua H HHl (b) HH % fore T srafy
(¢) i yeed yfoegarh awon  (d) Tl Ieed Sao
An energy policy does not include
(a) Target energy consumption reduction
(b) Time period for reduction

(c) Declaration of top management commitment
(d) Future production projection

% (10f4) P.T.O.
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(i)  Sefiefet affertor & 3rgEm freferRaa o & w9 a1 Sorarg &9 T 2 7
(a) TH-Ih (b) -3
(c) sfra-md (d) 3va
Which of the following is not a climate zone as per ECBC classification ?
(a) Hotdry (b) Warm-humid
(¢) Cold-humid (d) Cold

(i) STt P el & foru Fefefea 4 @ s T H T T8 8 2

(iv)

(a) Y[BITH SETE0! W WeX ¥ 31 2 |
(b) TEIATH TeITEsl AFH XA HAR |
() TEmarsaasae |

(d) T AR W § AR R |

Which of the following is not true for energy efficient motors ?

(a) Starting torque is higher than standard motor.

(b) Starting torque is lower than standard motor.

(c) Slip is lower than standard motor.

(d) Speed is higher than standard motor.

19 9189  ToTT SeivH AT 6t 1Rl @rra o1 e @ o, Frafafaa @ @

Tore o T femm st ) STavaesd & 7
(@) U9 T ekl T (b) TS o TN 6
(c) S h T (d) 3R gt

In determining the economic cost of insulation thickness for a steam pipe, which of
the following factors need to be considered ?

(a) Calorific value of the fuel (b) Annual hours of operation

(¢) Cost of fuel (d) All of the above

(v) T W@l H, afe Freprd arome %1 81 Sa 2, @ Wed! earn gl

(vi)

(a) T (b) wEW (¢ T=X® (d) T Y HE T

In a furnace, if the exhaust temperature decreases, the furnace efficiency will be

(a) lower (b) moderate (c) higher (d) None of these

“wifreror ® Sfee dehHIeh! geg it 8 St St el Trenfifenet @ weiftra € 17 9
A ITIRT B

(@) o1 E AT H (b)  wfSreror gy widegar §

OB ECEE-CR: (d) ST § 8BS &

“Training includes the complex technical issues that relate to energy efficient
technologies.” This statement is useful as part of —

(a) Energy action planning (b) Training division commitment
(¢) Management philosophy (d) None of the above

(vii) T 18§ 0,, CO it Frrrh o foru ferer 3uehtor <t Suei fepa wirem 2 2
() <& foweiws (b) TR ferveryen
(c) IS (d) R

Which instrument is used to monitor O,, CO in flue gas ?

(a) Combustion analyzer (b) Power analyzer
(c) Pyrometer (d) Fyrite



RE3003 3 of4) 1279

(viii) TfTehTTT § ST ST HTAT ST kTl &
(a) fogdfiegm (b) SIS S gT
() focie e gm () wmfiet g
Air velocity in ducts can be measured by
(a) Orfice meter (b) Bourdon gauge
(c) Pitot tube (d) Anemometer

(ix) T 3URA | FErd 2 ol T 1 =10 1 8 S 3T hid hl B AT <IaR o ATeaH
T T % 3I9Te! qh Tk &7 1 UIH 6 o fo7g 3w fepn a8 2
() YuEe (b) U=HEH
(c) wm (d) TR dem

What is the name of large open space located in a building often used to light up
public area by daylight admitted through a glass roof or wall ?

(a) Solarium (b) Skylight
(¢) Atrium (d) Translucent wall
(x) o 373 ffesha Gy f&sime o fore necaget s &
(2) M (b) & (c) T (d) et =M
The important factor for a good passive solar building design is
(a) Location (b) Area (c) Site (d) Space (1x10)
Qe — <t
SECTION -B

2. Tl gl =R (138) WiKa § Sl CaTdT SR P hd GrATSITh Sl @ ?

How Bureau of Energy Efficiency (BEE) facilitates energy efficiency programs in
India ? Q)

3. TR Sheret o B 3R Rrega womrelt ¥ gweht gouieha ) fRar ST @ 7

What is power factor and how it is evaluated in the electrical system ? 3)

4, o gr el aee [ % wTEEe E ?

What are the advantages of energy conservation method by VSD ? 3)

5. Sl EREUT YT Wi 379 He Fffepd A @ 7

How do you classify energy conservation measures ? 3)

6. Ted-art-saiic aoie & a1y S = g ?

What are the limitations with Return-on-Investment technique ? 3)

7. Ya-Free =ror H wfier = o gl o |
List steps involved in pre-audit phase. 3
P.T.O.
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8.

10.

11.

12.

13.

14.

15.

o Sfe feamgm R B ?

What is Sun shading device ?

hehie Y EaR F 39 =T EASd 8 7

What do you understand by concrete wall ?

Qo —
SECTION -C
Fott Geeqor e afear (Sefefiet) < g fersramati Y s Hifv |

" Explain main features of Energy Conservation Building Code (ECBC).

Tt 31 fisfen o fore ot Frer adtent 1 i & |

Describe energy efficient methods for lighting and fittings.

Trferiad <t sme ST
(a) HoIBTH I
(b) SifEw favetyor

Explain following :
(a) Depreciation cost
(b) Risk analysis

T3t o1 O & T ot BT U Tafte et wamg @ s |

Draw a typical energy flow diagram of reheating furnace.

IS TH 7662 Tiedn & TR o & =g o1 avia Hifs |
Describe orientation of building as per I.S. 7662 Code.

Ffsra Ot wem @ gaftra frfaRaa sregl 6 s i -
(a) I59dA U

(b) g bl e

OBRIEIEIRACEN

(d) e RRS aR

Explain following terms related to passive solar building :
(a) Radiant panel

(b) Trombe wall

(c) Water wall
(d) Thermal storage wall
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